
https://www.passapply.com/ctfl_syll2018.html
2024 Latest passapply CTFL_SYLL2018 PDF and VCE dumps Download

 

 

 

CTFL_SYLL2018Q&As

ISTQB Certified Tester Foundation Level (Syllabus 2018)

Pass ISQI CTFL_SYLL2018 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/ctfl_syll2018.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by ISQI Official
Exam Center

 

 

Latest CTFL_SYLL2018 Dumps | CTFL_SYLL2018 PDF Dumps | CTFL_SYLL2018 Exam Questions                               1 / 3

https://www.passapply.com/ctfl_syll2018.html
https://www.passapply.com/ctfl_syll2018.html
https://www.passapply.com/ctfl_syll2018.html


https://www.passapply.com/ctfl_syll2018.html
2024 Latest passapply CTFL_SYLL2018 PDF and VCE dumps Download

QUESTION 1

A holiday club restricts those booking the holiday, to people between the ages of 18 and 30 inclusive. Using three-point
boundary values, what ages would be required to test the lower and upper boundary? 

A. 17, 18, 19, 29, 30, 31. 

B. 17, 18, 19, 30, 31, 32. 

C. 18, 19, 20, 28, 29, 30. 

D. 16, 17, 18, 30, 31, 32. 

Correct Answer: A 

 

QUESTION 2

A tester thinks of a likely cause for a specific bug Should the tester make a comment about this in the bug report? 

A. No. A bug r^andort must only include factual information, and not unsupported hypothesis 

B. No. Such addition may bias the developers\\' attitude when they attempt to fix the bug 

C. Yes It will reduce the risk that the bug fix will cause a regression 

D. Yes Observations that may help correct a bug should be included in the bug report 

Correct Answer: D 

 

QUESTION 3

Which of the following would typically be identified using static analysis by tools? [K1] 

A. Spelling mistake on an error message 

B. A potential infinite loop 

C. Memory leakage 

D. A variable set to the wrong value 

Correct Answer: B 

 

QUESTION 4

Which of the following is a valid collection of equivalence classes for the following problem: "An Integer numeric field
shall contain values from 1 to 80 both values inclusive" 

A. Less than 0. 1 to 79, 80 and more than 80 
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B. Less than 0. 1 to 80, more than 80 

C. Less than 1. 1 to 80, more than 80 

D. Less than 1. 1 to 79, more than 80 

Correct Answer: B 

 

QUESTION 5

Which of the following statements about test execution effort is true? 

A. An increase in number of testers always reduces testing time. 

B. A large number of test repetitions mean less test execution effort. 

C. The test execution effort is independent of the number of test environments. 

D. The test case execution effort is dependent on the build quality. 

Correct Answer: D 
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